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“This mark may be awarded
for children who have a
‘method that communicates
dlearly how 50 x 4 x 2 could
have been calculated.

Use the acceptable and
unacceptable responses
given on pages 46 and
47 10 help you make
your decision.

Award the mark if the method a child
communicates clarly indicates that they
have attempted to multply the three
numbers, eg by finding four lots of 50
then doubling the answer, using a
‘complte method. (This method might be
numeral, signs, words, diagrams or any
mixture of these.)

+ Do not accept only 50 x 4x 2 or
rearrangements of this multiplication,
e 2 x 4x 50, since this merely restates
the question.
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a complete and correct method.

This mark may be awarded for:

= 80 without a method, or with an
incorrect of incomplete method.

= 2 wrong answer with 2 complete
‘method which, without arithmetical
ermors, would give the correct answer.
Use the examples of acceptable and
unacceptable responses given on
pages 50.and 51 to help you make
your decision.

oR

Award both marks for the correct answer
and method by entering 1 in each mark
box.

 For this question, a child must record a
‘complete and viable method, along with
the correct answer, for the award of two
marks. This is because the main focus of
the question is recording a viable method,
rather than reaching the cortect answer.

If one mark is awarded, enter 1then 0 in
the mark boxes.

One mark may be awarded to chidren
Who have faled to record the correct
answer, provided they have demonstrated
 complete and viable method for
multiplying 16 and 5. (This might be.
numerals, signs, words, diagrams of any
mixture of these.)




image11.png
8 toy cars)




image12.png
18

60

im




image13.png
21

12 (conkers)





image14.png
27 | A correct number sentence is given,

o 4x6=24

Accept other mutiplication sentences with
the product 24, except 1 x 24, 8.9,

. 2x12-24

©3x8-24

1m

Award the mark even if additional correct
or relevant calculations are given along
with a correct calculation, e.g.

© 2x6=122x12=24
Ao accept:

© 4x6=1x24

© 646+646=1x24
Do not accept 1 x 24 or 24 x 1 unless.

accompanied by an additional correct
number sentence.

Do not accept an incomplete number
sentence e.g.
. 6xa
* 6424 (missing equals sign)
64 = (missing product)
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15 | Number sentence complted as shown: Am | Al three numbers must be correct for the

award of the mark.

5 x| 6|=|2 .
©oR
6| x| s =] .
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m

Allthres sqg boxes must be correctly
matohed for the award of the mark.

Do not award the mark if an egg box is
matched to more than one calculation.

lgnors any extra ines drawn from the first
eqg box.
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Do not accept 5 x 7 or 7 x 5 unless
ovaluated.

(Refer to general marking principles 9, 10
and 11 on pages 7 and 8)
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Box on top right tiked a5 1 Accept any other cear way of indicating
shown: the correct response.

HH Do ot award the mark if more than one
boxis indicated unless 15 clear that the
corectone s the chid' final choce
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All numbers must be correct for the award
of the mark.
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This mark may be awarded 1

for children who have the
‘wrong answer but a
complete and correct
‘method that is
communicated diearly.

Use the acceptable and
unacceptable responses
given on pages 24 and 25
to help make your decision

Award both marks for the correct answer
by entering 1 in each mark box.

+ Achild with a correct answer can be
awarded two marks even If they have
failed to record a correct method or any
method at all, since it can be assumed that
they used a correct mental method to
reach ther answer.

1f mark awarded, enter 1 then 0 in the
mark boes.

One mark may be awarded to chidren
Who have faild to record the correct
answer, provided they have demonstrated
a complete and correct method for
identifying 12 lots of five. (This method
might be numerals, signs, words or
diagrams or any mixture of these.)
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This mark may be awarded
for chidren who have a
method that communicates
dearly how 16 x 5 could have
been calculated.

Use the acceptable and
unacceptable responses

‘given on pages 46 and 47
to help make your decision.

Award the mark f the method they.
communicate dleary indicates that they.
have attempted to record 16 lots of five or
five lots of 16 using a complete and
correct method. (This method might be.
numerals,signs, words or ciagrams or any.
mixture of these.)

Do not accept 80 + 5= 16 0r 80 + 16 =5
since this is not a method for working out
16x5=80




